E 5'5.9/16
N 3'3.3/16
— EL +87'6
EL +87°3" A
H [ 1/2"NS
9.11/16" _T = b
LR (AT
2006 |1 4 EL +87'0.15/16"
4508 | 7
S
. | s
h‘.'b‘% (|
A A
- % w
VNS 1 b
2 Sy
1 .
) \ ey
o

6]
EL +86'8.3/8"

O
@ll > 3x2“NS
lI \.D-
7:5.3/16" il
| 4'0.13/16" NS
5] 2"N
] o

220 PN e e . Hw EL +85'10.3/4"
———————— = I
5| [ - /41522§;%;22;;/ R
EL +86'1.13/16" | 5 | AN
2 S\ |
i | ™y
= :: ® AN CONN. TO
¥ = N o+ 50-E-7357 N8
EL +81°2.3/16" il D5 E7%
il S 8.3/4
i 6.1/4" EL +85'4.7/16"
F9 GI3 B15
l\‘% {CHAIN OPERATED NC-NORMALLY CLOSED? \EL +85'4.1/2"
LN, g
3\ EL +80°7.1/8"
FS GI13 BI5

EL +78'0.3/8"

CONT. ON
2 -HTWA-20014
E 16.1/8"

N 370.9/16"
EL +71'3.5/16"

14'10.9/16
216.3/4

FABRICATION MATERIALS
PT [SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
1 [HTWA  |PIPE STD WT SMLS STL A106-B 2 20.6
2|HTWA |PIPE SCH 80 SMLS STL A106-B 1/2 | 3.2
FITTINGS
3|HTWA |REDUCER CONC STD WT STL A234 WPB |3 x 2| 1
BwW
4|HTWA | THREDOLET 30004 STL A105 2 x 1
1/2
5|HTWA |ELL 90 DEG LR STD WT STL A234 2 2
WPB BW
6|HTWA |ELL 90 DEG 20004 SCRD STL A105 |1/2 2
7|HTWA [CAP 3000# SCRD STL A105 1/2 1
FLANGES
8|HTWA [FLG WN 1504 RF STL STD BORE A105 |3 1
9|HTWA [FLG WN 1504 RF STL STD BORE A105 |2 2
ERECTION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. [QTY
NO
FITTINGS
10|SUPP  |support SPS-68G 2 1
11[SUPP  |SPS-2 RESTING SUPPORT 1/2 1
GASKETS
12[HTWA |GASKET 1504 1/8" 316 SPRL WND |3 1
W/FLEXICARB TYPE CG
13[HTWA |GASKET 1504 1/8" 316 SPRL WND 2 2
W/FLEXICARB TYPE CG
BOLTS
14[HTWA |3.9/16 x5/8" STUD BOLT A193 GR [11/16] 4
B7 W/2 A194 GR 2H NUTS
15[HTWA |3.1/8 x5/8" STUD BOLT A193 GR B7 |11/16| 8
W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
16[HTWA |GATE 150# RF FORGED STEEL F6 2 1
TRIM
17|HTWA  |GATE 800#SCRD F6/STL TRIM OS&Y |1/2 1
ASTM A105
ARea: CETYL ] 2" -HTWA-20004
PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 2I12°F OP.PRESS: 37 psig TEST MEDIUM: Service
DES.TEMP:366'F DES.PRESS: 150 psig TEST PRESS: 225 psig
SCALE: NONE INSUL.TYPE: ns-cELLULAR INSUL.THK: 1.5 incn
LINE NO. B ISSUE:
HLE Nt . 2" -HTWA-20004 R3

SHT. 1 OF 1 TCE FORM NO. 027 RO

SIZE-A3



CONT. ON_—~"
"SHT* 2

@&l
2x1.1/2"NS

SPINDLE W 45 N

CHAIN OPERATED

FOR CONT REFER LINE NO 2"-HTWA-20005-TAS

3.11/16"

A

EL +62'5.11/16"

18°0.7/8"

| EL +46'0.1/4"

J6]

8'11.11/16"

"

b

MATCH PT-N, REFER NOTE-2
E 26'2.15/16"

N 29'5.7/8"

EL +24°2.1/2°

CONT. ON

1/2"-STME-20040
E 2011.1/16"
N 11'4.13/16"
EL +24'8.

4]
2x1/2"NS

1/8"

1.9/16"

Bl
EL +24°2.1/2"

20'2.5/16"

15.9/16"

10°1.1/8"

| 7.7/8"
| ~P~_EL +25°4"
EL +24'8.1/8"

(FOR CETYL ST TRACER CONNECT]ON)

CONT. ON
172" -HTWA-12002
E 26'2.15/16"

N 16"1.11/16"
EL +24'4.1/16"

FABRICATION MATERIALS
PT |SPEC COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
T|HTWA |PIPE STD WT SMLS STL A106-B 2 64.1
2|HTWA |PIPE SCH 80 SMLS STL A106-B 1.1/2] 0.7
FITTINGS
3| HTWA TEE STD WT STL A234 WPB BW 2 X 1
1.1/2
4|HTWA  |HALF COUPLING 30004 SCRD STL 2 x 2
A105 1/2
5| HTWA ELL 90 DEG LR STD WT STL A234 2 3
WPB BW
6|HTWA |CAP 30004 SCRD STL A105 1.1/2 1
FLANGES
7 |HTWA FLG WN 150# RF STL STD BORE A105 |2 1
ERECTION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
FITTINGS
8| SUPP SPS-25 TRUNNION SUPPORT 2 1
9[SUPP  |SPS-2G GUIDE SUPPORT 2 4
10|SUPP  |SPS-2 RESTING SUPPORT 2 1
VALVES / IN-LINE ITEMS
11|HTWA  |GATE 800#SCRD F6/STL TRIM OS&Y T2 1
ASTM A105
area:  CETYL 2"-HTWA-20005
PIPING GA NO: — P&ID NO: 102071005 STRESS CRITICAL: NA
OP.TEMP: 212'f OP.PRESS:30 psig TEST MEDIUM: Service
DES. TEMP: 3441 DES.PRESS: 159 patg TEST PRESS: 525 patg
SCALE: NONE INSUL.TYPE: N5-CELLULAR INSUL.THK: 1 tnch
LINE NO. " ISSUE:
LINE N0 7 2"_HTWA-20005 R4

SHT. 1 0OF 4 TCE FORM NO. 027 RO

SIZE-A3



FABRICATION MATERIALS

SIZE-A3

PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
1|HTWA |PIPE STD WT SMLS STL A106-B 2 2.9
2|HTWA |PIPE SCH 80 SMLS STL A106-B 172 | 0.4
:
EL +67'3.3/16" LTS
/\ 3[HTWA |ELL 90 DEG LR STD WT STL A234 2 5
w ; P4 WPB BW
b CONT. FROM | 4|HTWA |ELL 45 DEG STD WT STL A234 WPB |2 1
al 7 USHTY
AL L BwW
£ |
| ERECTION MATERIALS
|
I PT [SPEC |COMPONENT DESCRIPTION N.S. |aQTY
: NO
|
} FITTINGS
|
| 5[SUPP  |SPS-2G GUIDE SUPPORT 2 1
! 6|SUPP  [SPS13A TRUNNION SUPPORT ? 1
Il
! GASKETS
ORIFICE FLANGE i 7|HTWA |GASKET 3004 1/8" 316 SPRL WND |2 1
! W/FLEXICARB TYPE CG
|
1 VALVES / IN-LINE ITEMS
s BL a0 3180 8|HTWA |GATE BOO#SCRD F6/STL TRIM 0S&Y [ 1/2 1
CONT. ON - ASTM A105
'SHT" 3 TR
( -
| o
p
|
I
2.1/16" gl ::
L3 F i |
< 1/2"NS i
¥ | | 3 # il
TUBING AS PER P&G I&C STD. o - i
3 I
i |
| |
| |
I |
i
"~ E 15'4.3/8" i [
S 2'9.9/16" i |
EL +64'2.9/16" i
i1
|
|
i
it
I
| |
I |
Il
—=1'.I| EL +62'5.11/16"
I
)~
16.1/2"
AREA: CETYL 2" -HTWA-20005
PIPING GA NO: — P&ID NO: 102071005 STRESS CRITICAL: NA
OP.TEMP: 212°F OP.PRESS:30 psig TEST MEDIUM: service
DES.TEMP: 3¢6-¢ DES.PRESS: 150 psiq TEST PRESS: 526 patg
SCALE: NONE INSUL.TYPE: n5-CELLULAR INSUL.THK: 1 tnch
LINE NO. B ISSUE:
LINE M-/ 2"_HTWA-20005 R4
SHT. 2 0OF 4 TCE FORM NO. 027 RO

|



EL +66'6.3/4"
2.1/2"

™

EL +64'9.3/16"

16.1/16"

CONT. ON

EL +66'4.1/4"

Py EL +65'0.3/16"

E 139"
S 3'4.3/16"
EL +66'4.1/4"

[c8 B9
ORIFICE FLANGE

_
- 4
-
P
-
-
P
L
P
-
P
L
L
P
P
P
P
P
-
N
W2
P
=z
-
-
P
A
4 - 4
P
Al #
B
A0 P o
\ 7
] P
G
" P
-
L P
x P
& P
92 7
-
P
L
#
P>
-
=

4.1,/4"

FABRICATION MATERIALS
PT |SPEC  |COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
1|HTWA  |PIPE STD WT SMLS STL A106-B 2 3.1
2|HTWA  [PIPE SCH 80 SMLS STL A106-B 1 0.6'
3|HTWA [PIPE SCH 80 SMLS STL A106-B 1/2 0.4
FITTINGS
4[HTWA | TEE STD WT STL A234 WPB BW 2x 1] 1
5[HTWA |ELL 90 DEG LR STD WT STL A234 2 1
WPB BW
6|HTWA  [CAP 3000# SCRD STL A105 1 1
ERECTION MATERIALS
PT |SPEC  |COMPONENT DESCRIPTION N.S. |QTY
NO
FITTINGS
CONT. FROM 7|SUPP  [SPS13A TRUNNION SUPPORT 2 1
JjJ/B“/ A ISHT 2 GASKETS
i 8|HTWA  |GASKET 300# 1/8" 316 SPRL WND 2 1
W/FLEXICARB TYPE CG
BOLTS
9|ALCF  |3.15/16 x5/8" STUD BOLT A193 GR |11/16| 8
B7 W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
N 10|HTWA  |GATE BOO#SCRD F6/STL TRIM OS&Y |1 1
l\\@ ASTM A105
A\ 11/HTWA  |GATE BOO#SCRD Fé/STL TRIM 0S&Y [1/2 1
FEAN ASTM A105
BN\ 2.1/16"
X INSTRUMENTS
g Ty R 12 ORIFICE PLATE RF 300# FE 10506 |2 1
¥ < TUBING AS PER P&G 1&C STD. it
/ E 15'2.1/2"
S 3'10.3/4"
] EL +64'2.9/16"
AReA:  CETYL 2"-HTWA-20005
PIPING GA NO: — P&ID NO: 1020/1005 STRESS CRITICAL: NA
OP.TEMP: 212°¢ OP.PRESS:30 psig TEST MEDIUM: service

DES.TEMP: 306

DES.PRESS: 159 psiq

TEST PRESS: 335 pstg

SCALE: NONE INSUL.TYPE: Hs-cELLULAR INSUL.THK: 1 tnch
LINE NO. / ~ ISSUE:
e Nl . 2"-HTWA-20005 R4

SIZE-A3

SHT. 3 OF

TCE FORM NO. 027 RO

I



EL +7974.1/2

EL +80°'7" EL +79°

EL +7%'0.1/2" 1

10"

2'0.5/16"

7

2

CONN. TO
50-E-7357 N7
E 5'11.13/16"
N 22.9/16"
EL +80°'7"

L EL +77'0.1/8"
SPINDLE W 45 N~ |33

G'6.7/16

CONT. FROM
"SHT" 3

FABRICATION MATERIALS
PT [SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
1|HTWA |[PIPE STD WT SMLS STL A106-B 6 1.0’
2| HTWA PIPE STD WT SMLS STL A106-B 2 26.4'
FITTINGS
3[HTWA REDUCER CONC STD WT STL A234 WPB |6 x 4 1
Bw
4|HTWA |REDUCER CONC STD WT STL A234 WPB |4 x 2| 1
BW
5|HTWA |ELL 90 DEG LR 5TD WT STL A234 6 1
WPB BW
6|HTWA |ELL 90 DEG LR STD WT STL A234 2 4
WPB BW
FLANGES
7 |HTWA FLG WN 150# RF STL STD BORE A105 |6 1
B|HTWA |FLG WN 150# RF STL STD BORE A105 (2 2
ERECTION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
FITTINGS
9| SUPP SPS-2G GUIDE SUPPORT 2 1
GASKETS
10 |HTWA GASKET 1504 1/8" 316 SPRL WND 6 1
W/FLEXICARB TYPE CG
EL +71'0.9/16" 11|HTWA | GASKET 1504 1/8" 316 SPRL WND 2 2
W/FLEXICARB TYPE CG
BOLTS
12 |HTWA 3.15/16 x3/4" STUD BOLT A193 GR |[7/8 8
B7 W/2 A194 GR 2H NUTS
13|HTWA |3.1/8 x5/8" STUD BOLT A193 GR B7|11/16| B
W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
14 |HTWA GATE 150# RF FORGED STEEL Fé 2 1
TRIM
AI
|
|
|
AREA:  CETYL 2" -HTWA-20005
PIPING GA NO: — P&ID NO: 102071005 STRESS CRITICAL: NA
OP.TEMP: 212°F OP.PRESS: 30 psig TEST MEDIUM: service
DES. TEMP: 35+ DES.PRESS 150 psig TEST PRESS: 235 patg
SCALE: NONE INSUL.TYPE: N5-CELLULAR INSUL.THK: 1 inch
LINE NO. / N ISSUE:
L o/ 2"_HTWA-20005 R4

SHT. 4 OF 4

TCE FORM NO. 027 RO

SIZE-A3



4°11.7/16"

5'2.7/16"

SPS13A-24"-A

EL +66'1.5/16"

&l
EL +65'10.5/16"

CONT. ON

//‘SHT' 2

EL +69'11.1/8"

13.11/16"

CONT .,

ON

2"-HTWA-20004

E 16.1/8"

N 30

EL +71'3.5/16"

9/16"

2x2"NS
EL +7170.13/16"

FABRICATION MATERIALS
PT [SPEC |COMPONENT DESCRIPTION N.S. aTy
NO
PIPE
1|HTWA  |PIPE STD WT SMLS STL A106-8 2 20.9°
2|HTWA |PIPE SCH 80 SMLS STL A106-B 12 | o7
FITTINGS
3|HTWA |TEE STD WT STL A234 WPB BW 2x2| 1
4|HTWA |WELDOLET STD WT STL A105 2 x 1
1/2
5|HTWA |ELL 90 DEG LR STD WT STL A234 |2 6
WPB BW
6|HTWA |CAP 30004 SCRD STL A105 12 1
FLANGES
7|HTWA |FLG WN 1504 RF STL STD BORE A105 |2 3
ERECTION MATERIALS
T 55 SPEC |COMPONENT DESCRIPTION N.S. aTy
CONN. TO
50-E-7357 N9 FITTINGS
|_ S E 5'11.13/16" —
+71°8.1/ N 2'2.5/8" 8|SUPP  |SPS-2 RESTING SUPPORT ;] 2
EL +71°8.1/8" 9|SUPP  |SPS-2G GUIDE SUPPORT 2 1
10|SUPP  |SPS13A TRUNNION SUPPORT ) 1
GASKETS
3. Bope: 11|HTWA |GASKET 1504 1/8" 316 SPRL WND |2 3
W/FLEXICARB TYPE CG
BOLTS
12|HTWA  |3.1/8 x5/8" STUD BOLT A193 GR B7 [11/16| 12
W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
13|HTWA |GATE 1504 RF FORGED STEEL F6 2 1
TRIM
14|HTWA  |GATE 800#SCRD Fe/STL TRIM OS&Y  |1/2 1
ASTM AT05
|_2.1/16" EL +69'5.1/8"
EL +69°3.1/8"
| 3.15/16"
7,
E 3'9.3/16"
N 3°0.9/16"
EL +68'11.3/16
[ area: CETYL 2" HTWA-20014
F’l‘PlNG GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP; 212 OP.PRESS: 30¢sts TEST MEDIUM: Ssr¥ice
DES.TEMP. 366 DES.PRESS:150 TEST PRESS: 225
SCALE:  NONE INSUL. TYPE: 15-CELLULAR INSUL.THK: 1.5 o
LINE NO. . ISSUE: i
FILE NAME/: 2"-HTWA-20014 I R3 |

SHT. 1 OF 5 TCE FORM NO. 027 RO



2.1/2"%

CONT. FROM_="
‘SHT' 1 2"NS

<l

8.15/16"
16"

D=AER PSR

o

e

| EL +65"1.3/8"
EL +64'6.5/16"

G5 B7
2

\.TO DRAIN
E 21.5/8"
N 14°10.1/2"
EL +64'5.1,/2"

&l
w2
[~

3 G5

ORIFICE FLANGE

CONT. ON

2.1/16"

TUBING AS PER P&G 1&C 5STD.

£ 36"
N 14'3.7/8"
EL +65'3.3/4"

FABRICATION MATERIALS
:g SPEC  [COMPONENT DESCRIPTION N.S. |aTY
PIPE
1|HTWA |PIPE STD WT SMLS STL A106-B 2 1.6
FITTINGS
2|HTWA | TEE STD WT STL A234 WPB BW 2x2| 1
FLANGES
3|HTWA |FLG WN 150¢ RF STL STD BORE A105 |2 1
4|HTWA |FLG BLIND 1504 RF STL A105 2 1
ERECTION MATERIALS
;8 SPEC  [COMPONENT DESCRIPTION N.S. |QTY
GASKETS
5|HTWA  [GASKET 150# 1/8" 316 SPRL WND 2 2
W/FLEXICARB TYPE CG
6|HTWA  [GASKET 300# 1/8" 316 SPRL WND 2 1
W/FLEXICARB TYPE CG
BOLTS
7|HTWA |3.1/8 x5/8" STUD BOLT A193 GR B7 |11/16| 8
W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
8|HTWA |GATE 150# RF FORGED STEEL Fé ? 1
TRIM
INSTRUMENTS
9 ORIFICE PLATE RF 3004 FE 10508 |2 1
AREA: CETYL | 2"-HTwA-20014
PIFING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 22 OP.PRESS: 30psio TEST MEDIUM: Service
DES.TEMP; 366 DES.PRESS:150 TEST PRESS: 225
SCALE: NONE INSUL.TYPE: N5-CELLULAR INSUL.THK: 1.5 @
LNENO-/ 5" _HTWA-20014 S 3

SHT. 2 0OF §

TCE FORM NO. 027 RO



(63 B9

ORIFICE FLANGE

CONT. FROM
"SHT" 2

2.1/18" JI
TUBING AS PER P&G 1&C STD.

E 3'7.7/8"
N 15'5.1/16"
EL +65'3.3/4"

4.1/4"

FABRICATION MATERIALS
PT [SPEC |COMPONENT DESCRIPTION N.S. |oTY
B NO
P1PE
CONT. ON —
AISHT 4 1|HTWA |PIPE STD WT SMLS STL A106-B 2 1.8°
FLANGES
F2 G4 B6 2|HTWA |FLG WN 1504 RF STL STD BORE A105|2 1
ERECTION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
GASKETS
3[HTWA |GASKET 300# 1/8" 316 SPRL WND |2 1
W/FLEXICARB TYPE CG
4|HTWA  |GASKET 1504 1/8" 316 SPRL WND |2 1
W/FLEXICARB TYPE CG
BOLTS
5|ALCF  [3.15/16 x5/8" STUD BOLT A193 GR |11/16| 8
B7 W/2 A194 GR 2H NUTS
6|HTWA |3.1/8 x5/8" STUD BOLT A193 GR B7 [11/16| 4
W/2 A194 GR 2H NUTS
arga: CETYL 2"-HTWA-20014
PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP; 22 OP.PRESS: 30si9 TEST MEDIUM; Service
DES.TEMP; 366 DES.PRESS:150 TEST PRESS: 25
SCALE: NONE INSUL.TYPE: n5-CELLULAR INSUL.THK: 1.5
LINE NO. B ISSUE:
B N, 2"-HTWA-20014 ] R3

SHT. 3 OF 5 TCE FORM NO. 027 RO

SIZE-A3



DIAL FACE UP
1.13/16"

CONT. FROM_-"
"SHT' 3

EL +62°11.11/16"

2'10.5/8"

E2' 7. 1116
N 14°10.1/2"
EL +65°10.1/4"

EL +66°0.1/16"

- EL +65710.1/4"

EL +62'8.11/16"

FABRICATION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
1|HTWA  |PIPE STD WT SMLS STL A106-B 2 5,57
FITTINGS
2|HTWA |ELBOLET 30004 SCRD STL A105 2 x 1
1/2
3|HTWA |ELL 90 DEG LR STD WT STL A234 2 1
WPB BW
4|HTWA |ELL 90 DEG LR STD WT STL A234 2 2
WPB BW
FLANGES
5|HTWA |FLG WN 150# RF STL STD BORE A105|2 3
ERECTION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. [QTY
NO
FITTINGS
6|SUPP  |SPS-2G GUIDE SUPPORT 2 1
GASKETS
7|HTWA  |GASKET 150# 1/8" 316 SPRL WND 2 3
W/FLEXICARB TYPE CG
BOLTS
8|HTWA |3.1/8 x5/8" STUD BOLT A193 GR B7 [11/16| 12
W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
9|HTWA |CHECK 150# FLGD RF C.STL SWING |2 1
FULL PORT F& TRIM
INSTRUMENTS
10 STANDARD CONTROL VALVE 150f.RF |2 1
B16.10 FV 10506
11 TEMPERATURE INDICATOR(TI) TI 1/2 1
8916
ArRea:  CETYL 2"-HTWA-20014
PIPING GA NO: = P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 212 OP.PRESS: 3%psio TEST MEDIUM; Service
DES.TEMP; 366 DES.PRESS; 150 TEST PRESS: 225
SCALE: NONE INSUL.TYPE: Ns-CELLULAR INSUL.THK: 1.5
LINE NO. p ISSUE:
Nl . 2"-HTWA-20014 | R3

SHT. 4 0OF 5

TCE FORM NO. 027 RO

SIZE-A3



FABRICATION MATERIALS
PT |SPEC [COMPONENT DESCRIPTION N.S. [QTY
_,.| NO
PIPE
|
| T[HTWA |PIPE STD WT SMLS STL A106-B 2 70.1"
d
| FITTINGS
) LA
il 2|HTWA |ELL 90 DEG LR STD WT STL A234 |2 4
; : il WPB BW
cont, FroM_ 111716 15 Ih 3[HTWA |ELL 45 DEG STD WT STL A234 wPB (2 1
TSHT® 4 | e
}
i |
9 I FLANGES
2"NS ' it
7z :'\f 4|HTWA |FLG WN 1504 RF STL STD BORE A105 (2 1
|
I
& \; i ERECTION MATERIALS
I
|
; " il PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
EL +62'5.11/16 | NO
i
i
!: FITTINGS
| e
|
i 5|SUPP  |SPS-2G GUIDE SUPPORT 2 2
o &|SUPP  |SPS-2 RESTING SUPPORT 2 2
| 7|SuPP  |SPS-25 TRUNNION SUPPORT 2 1
eSS | 8|SUPP  |support SPS-68G 2 1
~
o™ I
1 |
il
i |
Il
I
|
|
|
|
A |
o il
T i FOR CONT REFER LINE NO 2*-HTWA-20014-TAS
o i MATCH PT-P, REFER NOTE-2
o il E 25'5.9/16"
2 i N 30°2.5/8"
il EL +24'2.1/2"
|
|
l : 210.1/4"
|l
| I
EL +35'5.1/8" !
EL +25'4" _|
EL +24'2.1/2"
AREA:  CETYL 2"-HTWA-20014
PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: 212 OP.PRESS: 3%sia TEST MEDIUM: Service
DES.TEMP: 366 DES.PRESS: 150 TEST PRESS: 225
SCALE: NONE INSUL.TYPE: n5-CELLULAR INSUL.THK: 1.5
LINE NO. " ISSUE:
N Nt . 2" -HTWA-20014 R3

SIZE-A3

SHT. 5 0F 5 TCE FORM NO. 027 RO



EL +2'2.3/16"

CONT. ON
3"-STME-12001
E 25'7.1/4"
N 16'9.3/16"
EL +8°9.1/4"

[F5 G8 B9 . -CONT. ON

'SHT® 2

5
1/2x1/2"NS -
4.9/16" A
® |
3 4|
|
o~
5
<
o
l L | 4.9/16"
o
)
\?'\
E 23'5.1/8"
N 16'1.11/16"
EL +13.1/8"

FABRICATION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. [QTY
NO
PIPE
1[HTWA |PIPE SCH 80 SMLS STL A106-B 172 |16.2!
FITTINGS
2[HTWA |TEE 2000# SCRD STL A105 1/2 x| 2
1/2
3|HTWA |ELL 90 DEG 20004 SCRD STL A105 [1/2 6
4|HTWA [CAP 30004 SCRD STL A105 1/2 1
FLANGES
5|HTWA |FLG SCRD 1504 RF STL A105 1/2 1
ERECTION MATERIALS
PT |SPEC |[COMPONENT DESCRIPTION N.S. |QTY
NO
FITTINGS
6|SUPP  |SPS-2G GUIDE SUPPORT 1/2 1
7|SUPP  [SPS-2 RESTING SUPPORT 1/2 2
GASKETS
8[HTWA [GASKET 1504 1/8" 316 SPRL WND 1/2 1
W/FLEXICARB TYPE CG
BOLTS
9[HTWA [2.3/8 x1/2" STUD BOLT A193 GR B7 [9/16 4
W/2 A194 GR 2H NUTS
VALVES / IN-LINE 1TEMS
10|HTWA  |GATE 800#SCRD F6/STL TRIM OS&Y (142 2
ASTM A105
11|HTWA |GLOBE 8004 SCRD A-105 C. STL STD|[1/2 1
PRT F& TRIM ASTM A105
area:  CETYL 1/2"-HTWA-12002
PIPING GA NO: P&D NOQ: 1012 STRESS CRITICAL: NA
OP.TEMP; '80°F OP.PRESS: %sig TEST MEDIUM: Hrdre
DES.TEMP:365°F DES.PRESS:150psig TEST PRESS: 225psig
SCALE: NONE INSUL.TYPE: Ns-ceLLuLAR INSUL.THK: 1~

LNENO. 7  1,/2" “HTWA-12002

ISSUE:

R3

SIZE-AZ

SHT. 1 OF 2

TCE FORM NO. 027 RO



CONT. ON
2" -HTWA-20005
E 26'2.15/16"
N 16°1.11/16"
EL +24'4.1/16"

EL +22°0.15/16" ™,

| ®
| s
= ol
| Y
I e
el T
EL +13'10" | o
}l g
=h |7
I
Il n P
P |
| D
I 427 "
I :, )
4] L~
5'0.13/16" !
|
=
I
|
AN '
7/2°NS N ‘9-13/ R
AN 5 7
7

CONT. FROM_| 7% & y
TSHT' 1 4 W -

o
~ 2
1/2"NS ®’ ,albc
PREAPL
F4 GB B9 QA =5 Al 1/2x1/2"NS

CONT. FROM_-~""
“SHT' 1

EL +24'11.3/8"

EL +8°9.1/4"
|
ki ]
]
L EL +7'8.1/8"
~
© O
=
0
Te]

FABRICATION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
1|HTWA |PIPE SCH 80 SMLS STL A106-B 172 [29.1°
FITTINGS
2[HTWA | TEE 20004 SCRD STL A105 1/2 x| 1
1/2
3|HTWA |ELL 90 DEG 20004 SCRD STL A105 [1/2 8
FLANGES
4|HTWA |FLG SCRD 1504 RF STL A105 1/2 1
ERECTION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
FITTINGS
5[SUPP  |SPS-2G GUIDE SUPPORT 1/2 1
6[SUPP  |SPS-67G support 1/2 2
7|SUPP  |SPS-2 RESTING SUPPORT 1/2 1
GASKETS
8|HTWA [GASKET 1504 1/8" 316 SPRL WND 1/2 1
W/FLEXICARB TYPE CG
BOLTS
9[HTWA |2.3/8 x1/2" STUD BOLT A193 GR B7 |9/16 | 4
W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
10|HTWA |BALL FLOAT TYPE STEAM TRAP 1/2 1
1504RF
11[HTWA |GATE BOO#SCRD Fe/STL TRIM OS&Y |1/2 1
ASTM A105
AReA:  CETYL 1/2"-HTWA-12002
PIPING GA NO: P&ID NO: 1012 STRESS CRITICAL: NA
OP.TEMP: 180°F OP.PRESS: 3%sia TEST MEDIUM: Hdro

DES.TEMP:365°F

DES.PRESS: !50psig TEST PRESS: 225psig

SCALE: NONE

INSUL.TYPE: ns-ceLLuLAR INSUL.THK: 1~

LINE NO. /

FILE NAME :  1/2"-HTWA-12002

ISSUE:
R3

SIZE-A3

SHT. 2 OF 2 TCE FORM NO. 027 RO



